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1. (12%) ~3tm 

a. 32 bits= bytes 
b. lK bytes= bytes 
c. ~~m;!t~~~ 2.5GHz ' 'EI¥:J~WH~: f!P. 
d.	 ~~H1lll¥J~M 200 u S ' '81¥-J~$~ Hz. 

2. (24%) "~""f5'U~~~*1C 
a. ( 133 )w= (	 h 
b. (0101111 h = ( )10 
c.	 (29.3 )10 =( )2 
d. ( 1101.001 h = ( )10 
e.	 (010101101.010101001 h = ( )16 
f.	 (1010101010001.1001 h = ( )8 
g. (6013.57)8 = ( )16 
h.	 (22.C )16 = ( )10 

3. (6%) fflWJOO bytes *~7K""f5'U~ti 

a.	 1210 ~ l'tmlft= 2 

b. 3610 l¥J 2'.=	 2 

4. (6%)	 ~t.JI: 

b.2658+4468= --' 

c.	 59C816+A53AI6= -__-__-__ -_~,6~_~ _ 

5. (12%)~ili""f5'Umi~I:r-J9t)(~m 
a. DRAM 
b. EEPROM 
c. CPU 
d. LCD 

6. (15%)~Wi~""f5'U'J!.JG{lf:;ff~tJi~~~t:p®~t~ 0 

a. JiUmiiJi_JC(Arithmetic Logic Unit) 
b. i9c!&~e.ttm(Cache Memory) 
c. 1*OO~e.ttR(Flash Memory) 

7. (25%)g-M c i¥J~i~IT.~~~~U sum=173+ 172+ 170+ 167 + 163 + 158+ ... ' !It~~UI:J:1=1'/J\ 

~~®{OO:~~~~~:P ? .M!~UElJlli~* 0 


